
690 SUPERMOTO PRESTIGE 2007 <2007><EU><9726G5>
FRONT FORK, TRIPLE CLAMP

4348

Pos Part Number Description Additional Text Quantity

1 14187C08 FORK WP USD 48MM SM PREST. 07 1.00

6 0012100603 AH SCREW DIN6912-M10X60 2.00

7 0015080303 HH COLLAR SCREW M 8X30 WS=10 11.00

8 0912080303 AH SCREW DIN0912-M 8X30 4.00

9 0015050203 HH COLLAR SCREW M 5X20 WS=8 1.00

10 0985050003 Self locking nut DIN 985 M5 1.00

11 75001070000 CLAMP BRAKE HOSE 07 1.00



32 7500103203201S BOTTOM TRIPLE CLAMP CPL. 07 1.00

33 60001033000 FORK TUBE LC8 ADV 03 1.00

34 7500103403201S TOP TRIPLE CLAMP 54MM 07 1.00

37 54801036000 STEER.HEAD SCREW M20X1,5 WS=27 1.00

38 5900103830001S HANDLEBAR CLAMP 28MM 07 2.00

39 5900103920001S HANDLEBAR SUPPORT 28MM 07 1.00

40 56401042000 washer 10.5x32x2 4.00

41 56401040000 rubber bushing 4.00

43 0982100003 SELF LOCK.NUT DIN0982-M10 HIGH 2.00

44 61001041000 spacer tube 10.2x12x38 2.00

81 54201081100 TAPERED ROLLER BEARING CPL. 06 2.00

82 54601084100 O-RING SUPPORT W. SEALING LIP 1.00

84 54601184000 STEARING HEAD GASKET TOP 1.00

86 61001086000 STEERING HEAD COVER 05 1.00

90 75001094010 BUSHING MUD FLAP 07 6.00

91 0012060123 AH SCREW DIN6912 M6X12 6.00

92 7500109400033 SPLASH PROTECTOR BLACK MATT 07 1.00

98 00050000930 STEARING HEAD REP. KIT 06-15 0.00

99 00050000922 HANDLEBAR SUPPORT KIT 0.00


